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QiD:1-
[n the following question, select the number which
can be placed at the sign of question mark (7} from
the given alternatives.

Taffyg vy & Gy o0 Rredt A @ wr R
(?) & TUE W A gl & ® AT

9 | 11| 8 | 10
90 [132| 72 | ?

Options:
1) 100

2)110
3)99

4) 56
Correct Answer: 110
Candidate Answer: 110

QiD:2-
How many triangles are there in the given figure?

q 75 e A feraa Feger €7

Options:
1) 4

2)5
3)6

4)7
Correct Answer: 6
Candidate Answer: 6




QlD:3-

A waord is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by lwo classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these malrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 40, 79, etc., and ‘N’ can be represented by 12, 89, etc.
Similarly, you have to identify the set for the word “STOP”.

UF e HaAd UH HEAT-OHE &N GRT T &, S 5 fedt # &
fepedr wen o T omam §1 feedt 3 BT AT SEOT-TAR 3erY & gr gt
gRT gitw It &, Sk R BT Tw g AegRt @ ¥ 3ege & waear i
G 1 GEar 0 @ 4 § 3T Il AT 5 & 91 59 YT A TH HAR
W uge sE dfn 3T aig # TwH "mn g gt Srogesn B
BTl <K I A 40, 79, 3fE &1 ST ST Tl & dAqT N’ @1 12,
89, 3 ERT AT ST Thar &1 O g O U oy F Gu o=
“STOP” & AT Top o TeaeEar &I

Matrix-! Matrix-ll

negg-l Inegg-ll
0111234 S5|le6|7|8(9
0O|O(K|D|F|X S|RIC|W|G| I
1|G|M|N|H|V 6| KIM|O|Q|S
2|E[O|Y [ J|T TIUIWIY|B|A
S|C|[F|IT|L|R 8|F|H|G|L|N
4|A[S|U[N|P 9AIR|T|S|X

Options:
1) 41, 24, 00, 67

2)98,97,21,44
3) 69,79, 67,43

4) 58,97, 59, 89
Correct Answer: 98,97, 21, 44
Candidate Answer: 98, 97, 21, 44

QiD:4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& T TR A A § 30 =Y ey @ giaw
5w & vy agpfa @fta &

D




Options:
1)

2)

3)

AV
AN

Correct Answer:

Candidate Answer:

AVA
AN

QID:5-

Which answer figure will complete the pattern in the
question figure?

WA W A HHIA T A & TiaeT Bf
HL?
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e e e ey = —
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Options:
1)

4

Correct Answer:

Candidate Answer:
&

QiD:6-
[f a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg e gUT @ AB T WX T@r Sm, & & T
TaT ApaAr # ¥ Bl W At v Apia
g ufafes aefi?




Options:

1)

2)

4)

Correct Answer:

a—

Candidate Answer:

-

QiD:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opened?

der & uy ampfadr A T egEr e @
Az B 9T Wiek & 918 9% Fg TaT HTgia

S fears gome
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Options:
1)

2)

4

Lol| o3 lod) o)

Correct Answer:

o°

Candidate Answer:

o

QID : 8 - If 'P' means '-', 'Q' means '+, 'R' means '+' and 'S' means 'x', then
19R11Q3S12P4="?
afe P et a1 ', 'Q" ot aref '+, Rt o '+ T 'S T 4 X g,

19R11Q3S12P4="?
Options:

1) 34

2) 69

3)73

4) 59

Correct Answer: 59
Candidate Answer: 69

QID:9-If4x3+6=1and15%x4+9 =10, then
16x3+10=2
gE4x3+6=1au15%x4+9=108,a

16x3+10=?
Options:

1)12

2)10

3)13

49

Correct Answer: 9
Candidate Answer: 13




QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Reason
2. Regal
3. Regent
4. Read
5. Resort

frfeaa <1eai il AreaentsT | ST ATt oA & SR ford |

1. Reason
2. Regal
3. Regent
4. Read
5. Resort

Options:
1) 14235
2) 41235
3) 41253
4) 14523

Correct Answer: 41235

Candidate Answer: 41235

QID : 11 - In the following question, select the missing number from the given series.
43, 53,73, 83,103, ?

Frafafea vy A g 71g fared # 9@ g sie 1 GIfSg)

43, 53,73, 83,103, ?
Options:

1113
2)123
3)173

4) 163

Correct Answer: 113

Candidate Answer: 113

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AZ,CX,EV,?

Tk 3R ot T &, o @ U ue g o1 Ry 7Y et # & 95 @@ fodhed 9, S Srgshn @ @ |

AZ,CX,EV,?

Options:
1) FU

2)GT
3) GH

4) FG
Correct Answer: GT
Candidate Answer: GT

QID : 13 - In the following question, select the odd word from the given alternatives.

frfafa w3 fig Mg frehedt & @ fawm greg &t gfAg)

Options:
1) Circle
™

2) Square

Eu

3) Rectangle

adq

4) Line

ar

Correct Answer: Line

Candidate Answer: Line

QID : 14 - In the following question, select the odd number pair from the given alternatives.

ffafRa vy & Ry 7y et & 9 fvm g gm @t gfg)




Options:
1)9-99

2)11-121

3)6-66

4)4-46

Correct Answer: 4 — 46
Candidate Answer: 4 - 46

QID : 15 - In the following question, select the odd letters from the given alternatives.

Pt mer & Ry g fReedt & @ v sieri & gfg)

Options:
1) PQ

2) cD

3)RS

49TV

Correct Answer: TV

Candidate Answer: TV

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
India, China, Asia

I8 9@ YFAg 57t A Ry 7 it o <fiwr & deter o1 Tl feuor sear 21

R, =i, gfar
Options:
1

OO0

N

w

Iy

c

Correct Answer:

Candidate Answer:

QID : 17 - In the following question, select the related word from the given alternatives.
Smoke : Pollution : : Fire : ?

fafafea v 7 Ry 7o et # 9 Hefda s @t gl

it : uguor : : fi 2

T e e )



Options:
1) Food
o

2) Heat
AT

3) Woods
enfeal

4) Matchstick
e

Correct Answer: Heat
&SHT

Candidate Answer: Heat

ST

QID : 18 - In the following question, select the related number from the given alternatives.
12:1728::13:7?

frfafea mer A g g foeredt # § Sefda S@n & gl

12:1728::13:7?

Options:
1) 169

2) 2197
3)225

4) 3375
Correct Answer: 2197
Candidate Answer: 3375

QID : 19 - In the following question, select the related letters from the given alternatives.
XYZA : AZYX:: MNOP :?

FrafafEa usr A g 77y faeredt 7 9 defda et &t gihml

XYZA : AZYX:: MNOP :?

Options:

1) PMNO

2) POMN

3) PONM

4) NMOP
Correct Answer: PONM
Candidate Answer: PONM

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
FRANCHISE
ol el & @ ag Tee AT St ey 7T 21eg & 318 e UINT ek el ST ST Sehd|

FRANCHISE
Options:

1) RAIN

2) SIDE

3) HAIR

4) RAISE

Correct Answer: SIDE
Candidate Answer: SIDE

QID : 21 - Sonali walks 39 km towards south. She turns left and walks another 39 km. She turns left and walks another 39 km. In which direction is she from her
starting point?

G¥reft afayor & ok 39 .Y, Techt 81 a8 arft SR gooit & aar 39 fn . SR Tt &1 a8 arff ofk Hait & aur 39 fhAft. ofk Terclt 81 a8 SR smRfSYes forg @ v Ram # &7

Options:
1) East

2) North-East
IR

3) West

uigA

4) South-West
Ziaor-ufgm

Correct Answer: East

Candidate Answer: South-West
EfRorufdm




QID : 22 - Ais 3 years older than B. B is 6 years younger than C. C is 4 years older than D. D is 5 years younger than E. Who is the eldest?

ABR3afagTIgIB CA6aIBIIIC, DR 4ad IS8 D, ET 5 a9 Blel § 1 TR ST bl 87
Options:

1)c

2)E

3)D

4B
Correct Answer: E
Candidate Answer: C

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some dolls are toys.
Il. Some toys are cups.

Conclusions:
I. No doll is toy.
IIl. No cup is doll.

2 Ry 77 v & o HYA SR I a1 37 wUET W SR o s g g &, gt S S w9 gt @ e & gadt 81 g e ug eik iR FRuffa o & Ry g e
G fsere, R g el & SUR R gReaa g1

hY:
. ® Al fad g

. & f&e wu &1
e

1. 1 Tpfar faefr & &1
I1. ¥ Y e TE 8

Options:

1) Only conclusion (1) follows.

e fwny (1) wét &1

2) Only conclusion (l1) follows.

haet fsend (11) Tg &)

3) Both conclusion follow.
SE

4) Neither conclusion (1) nor conclusion (Il follows.

Tt Frsemf (1) 7 & frsemd (11) T 81

Correct Answer: Neither conclusion (1) nor conclusion (Il) follows.

Tt frsemf (1) 7 & frsemd (11) TE &1

Candidate Answer: Only conclusion (ll) follows.

et Frsend (1) Tt &1

QID : 24 - In a certain code language, "HOUSTON" is written as "JMWQVMP". How is "TRIUMPH" written in that code language?

e fAfE s oo #, "HOUSTON" @ht "JMWQVMP" fora SiTar &1 39 shis areT & "TRIUMPH" &t foh trarR forar stgem?

Options:
1) SLMNPHQ

2) VPKSONJ
3) JLMOPOT

4) SOVPKNT

Correct Answer: VPKSONJ

Candidate Answer: VPKSONJ

QID : 25 - In a certain code language, "BREAD" is written as "96541" and "HORSE" is written as "78605". How is "BORED" written in that code language?

e fAfE i o #, "BREAD" &t "96541" a2 "HORSE" @it "78605" foaT SiTa &1 39 i 7T & "BORED" & {79 wenR fora simgem?

Options:
1) 70851

2) 16589
3) 70589

4) 98651
Correct Answer: 98651
Candidate Answer: 98651

QID : 26 - How many positive factors of 48 are there?

48 & eITeH U S fhae 872

T e e )



Options:
18

2)12

3)10

4) 20

Correct Answer: 10
Candidate Answer: 10

QID : 27 - How many numbers from 105 to 205 are divisible by 97

105 9 205 dek Uit fhaeit TReamd & St 9 & i gt &2

Options:
1)10

2)11
3)13

49
Correct Answer: 11
Candidate Answer: 9

QID : 28 - Which of the following statement(s) is/are true?

1. (2/3) > (4/5)

1. (3/5) > (1/3)
frfafaa & @ & /8 &= g §/8?
1. (2/3) > (4/5)

II. (3/5) > (1/3)

Options:

1) Only |

had |

2) Only Il

hae Il

3)Bothland Il

| qeT 11 &t

4) Neither I nor Il
Faragi

Correct Answer: Only Il
&ad I

Candidate Answer: Only Il
&ad I

QID : 29 - If a number is as much as greater than 41 as it is less than 83, then what is that number?

o 9 41 § et o€t & 31 81 83 I S §, at ag T 87
Options:

1) 41

2)19

3)62

4) 21
Correct Answer: 62
Candidate Answer: 62

QID : 30 - What is the value of [(2.3)3 + (1.7)3] = [(2.3)2 - 2.3x 1.7 + (1.7)4]?

[(2.3)% +(1.7)% = [(2.3)2 - 2.3x 1.7 + (1.7) ] T AF &1 &7

Options:

14

2)6

3)3

4)2

Correct Answer: 4
Candidate Answer: 2

QID : 31 - N is a number divisible by 20. If (N + 2)(N + 9) is divided by 20, then what will be the remainder?

N Teh Teen sit 20 & fRnfSia &1 afe (N + 2)(N + 9) &t 20 @ RnfSra forar e &, aY Qe aar ghm?

Options:
1)14

2)18
3)9

46



Correct Answer: 18
Candidate Answer: 18

QID : 32- M, N and P undertook a work for Rs 50000. Together M and N complete (7/10)t part of the work. What is the share (in Rs) of P?

M, N 1 P 3 Qe &7 et 50000 ¥ # ferari M @ N fiee &rf &1 (7/10)-af i qur aed 81 P ot i (3 8) | 8?2

Options:
1) 20000
2) 10000
3) 15000
4) 25000

Correct Answer: 15000
Candidate Answer: 15000

QID : 33 - Three taps D, E and F can fill a tank in 100, 120 and 150 minutes respectively. If all the taps are opened together, then in how many minutes will the tank be
filled?

&t 71T D, E Q4T F ek &bl &l shHRT: 100, 120 dar 150 el & R gord §1 afe aoft el ol g a1y @it fgar oma, at &t foham el & ar smafi?

Options:

1) 50

2) 60

3) 40

470

Correct Answer: 40
Candidate Answer: 60

QID : 34 - The ratio of the angles of a triangle is 2 : 3 : 5. What is the measure of the smallest angle (in degrees)?

foret Rrogt & ahivi T orUIa 2 : 31 5 81 T<d B ot o1 A (RTh #) @2
Options:

1)32

2) 36

3)48

4) 40
Correct Answer: 36
Candidate Answer: 40

QID : 35 - A shopkeeper offers 25% discount on balls which have been marked 40% above the cost price. Gajender bought the ball for Rs 630. What was the cost price
(in Rs) of the ball?

ek GOhIMER s g § 40% 3ifde Sifcha e areht fiat ur 25% <l T a1 81 T5ig 3 630 % H g @RI | 7S &1 o g4 (3 H) a1 am?

Options:
1) 600
2) 580
3) 575
4) 550

Correct Answer: 600
Candidate Answer: 600

QID : 36 - The cost price of an article is 76% of the marked price. What is the loss percentage after allowing a discount of 43% on the marked price?

foneft g 1 o we Sk Sifehd T T 76% 1 Sifhd e TR 43% i e 3 & T g Hiaer 8?7
Options:

1) 10

2)12.5

3) 25

4) 30
Correct Answer: 25
Candidate Answer: 12.5

QID : 37 - Divide Rs 960 among M, N and O so that M get (3/9)™ of N's share and O gets (4/7)™ of M's share. What is the share (in Rs) of 0?

960 % &l M, N 7T 0 # 59 UaR faeifeia a3 i M @l N & 5= ot (3/9)-at 1T Tt a2 O &t M & T8 &t (4/7)-at 1t et O o fewan (3 9) s &2

Options:

1)120

2) 360

3) 630

4) 480

Correct Answer: 120
Candidate Answer: 480

QID : 38 - In what ratio a man must mix sugar at Rs 13.40 per kg with Rs 17.70 per kg sugar so as to make a mixture worth Rs 15.20 per kg?

Te Ak R arguTd § 13.40 % Uy 6.7, areft i+t Y 17.70 < ufa 6., aeft <+ & ey fvemd anfes fvsror i Frra 15.20 + vf fvam. gy sma?

T e e )



Options:
1)5:3

2)5:2
3)25:18

4)19:12
Correct Answer: 25:18
Candidate Answer: 25: 18

QID : 39 - The average of 16 numbers is 10.5. If a number 3 is removed, then what will be the new average?

16 st o 3ftea 10.5 &1 It o Team 3 ot g ST, af 4T Sfid o gh?

Options:
1)10
2)11
3)11.5
4)10.75

Correct Answer: 11
Candidate Answer: 11.5

QID : 40 - By selling 75 metres of cloth, a person losses the cost price of 15 metres of cloth. What is his loss percent?

75 TR SRUST SFehe Gk Afch @l 15 HIeX HhUS & tha TTd o SXIeR g1 Gidl & | AT gIf Ufierd &m 82
Options:

1) 40

2)15

3)11.11

4) 20
Correct Answer: 20
Candidate Answer: 11.11

QID : 41 - If bananas are bought at the rate of 4 for a rupee, then how many must be sold for a rupee so as to gain 33.33%?

i T T F 4 it @R F Fed TS o, Y Tk 30 F e et 3 9T 6 33.33% ol AT E1?

Options:
16

2)2
3)3

4)1
Correct Answer: 3
Candidate Answer: 1

QID : 42 - A number is increased first by 20% and then it is decreased by 30%. What is the percentage change in the number?

Teh Y1 i U 20% & ST ST & a7 fOhe I¥ 30% & er ST1a 81 T 3 fhawt ufasra uRed= gorm &2

Options:

1) 16% decrease
16% Y et

2) 10% decrease
10% dht et

3) 20% decrease
20% chr ¥t

4) 10% increase

10% S i

Correct Answer: 16% decrease

16% <ht oY

Candidate Answer: 16% decrease
16% Sl et

QID : 43 - Two numbers are 35% and 20% respectively less than a third number. First number is what percent less than the second number?

Tt HETY, Ueh Ot St § AL 35% AT 20% HF §1 Ugel S, g e § fohan nfderd @ 87

Options:

1)22.5

2)24.5

3)18.75

4)16.75

Correct Answer: 18.75

Candidate Answer: 16.75

QID : 44 - The speed of a stream is 2 km/hr. A boat goes 32 km and comes back to the starting point in 12 hours. What is the speed (in km/hr) of the boat in still
water?

Teh YTRT 3t TR 2 o . /e &1 Gk 11 32 o . Y o o bl & SfiR oo aRfYen filg wR 12 €2 § aruw o it &1 <1fa St § wra Y anfey (k.. /dier #) arm @2




Options:

15

2)6

3)8

4)10

Correct Answer: 6
Candidate Answer: 8

QID : 45 - The downstream speed of a boat is 20 km/hr and the speed of current is 5 km/hr. What is the total time (in hours) taken by the boat to cover 40 km
upstream and 60 km downstream?

freft =ma Y iy e & srgpe 20 fR.t. /g & e e i ifer 5 A/ der @1 ey & wifager 40 6., dam o & srgget 60 oA Y ot T A | A1a ot et feaeT T (eie H)
T

Options:
1)6

2)7
3)8

49
Correct Answer: 7
Candidate Answer: 8

QID : 46 - A sum becomes 5 times in 4 years at compound interest. In how many years the same sum will become 25 times?

Teh A0 Tehgfeg; STt § 4 991 7 5 T[T g1 St ¢ fha=t aut 7 agt €FRIeY 25 TAT g1 SIRef?
Options:

Correct Answer: 8
Candidate Answer: 20

QiD: 47-
The bar chart given below shows the number of new
plants grown in 2 nurseries A and B from year 2012 to
2016.

A BT 9T gus B # a¥ 2012 | 2016 T 2 wier
TR A JUT B & 3 I w4 oiet $ir gEar v e

T g
O Nursery A/dieTax A O Nursery B/ dem =T B
@ 2001 o
= s &
o —
EE 150 4 & Qo = © F
e o — o s —
oG s - S |
$ .7 100 |
E 2
~
= 50 ~
0 T T T T 1
™ [ap] -t [fe] ({=]
o b o o >
o N [ (2] (]
Year/a¥

What is the percentage change in the number of plants grown in nursery A from year 2012 to year 2014?

qf 2012 & 2014 & Ut @R A & IR 78 Wi 6 e F ufasra uRad @ g2

Options:
1) 22

2) 50
3)44

472
g e gy Sy e w /ﬁ
Carrart Ancwar: 44 | = T oere sl Ry - i e, s i~




Candidate Answer: 72

QID:48-
The bar chart given below shows the number of new
plants grown in 2 nurseries A and B from year 2012 to
2018.

A/ feT 71T gus =B # 9 2012 ¥ 2016 g 2 dier
T A 9T B # 3O T 9 oielt &y WEar s g

T g
O Nursery A/dieTsx A O Nursery B/ der =T B
o 200 - o
g I 2 e
(o] -
EE 180 1 Qo — © F
[ [an ] - o = -
°E ©= S | =
2 .- 1001 -
E 2
3
= 50
0 T T T T 1
[ o« -t o O
= p= S S =
(o] (al] (o] (o] [
Year/a¥

In which two years the difference in the number of plants grown in the two nurseries was same?
for <Y i & g1 die) =i F ST T el <Rt e et SR §EE o1?

Options:

1) 2012 and 2013

2012 9u12013

2) 2013 and 2014

2013 dur2014

3) 2013 and 2016

201312016

4) 2012 and 2016
2012 7T 2016

Correct Answer: 2012 and 2016
2012 qur 2016

Candidate Answer: 2012 and 2016
2012 qu12016

- — — — —
I P e et 2 s A W oo v B M s e - I R 3 /




QID : 49 -

The bar chart given below shows the number of new
plants grown in 2 nurseries A and B from year 2012 to
2016.

A T 9T gus B # 9§ 2012 ® 2016 g 2 ©ier
TR A 9T B H 3R T T Oiel & W&aT s g

T
O Nursery A/dieTex A O Nursery B/ dtem=w B
o 200 - o
5 I = e
(en] —
E.g 180 4 RQ - © Fd
S (en] - o - -
° & S < SR
2. 100
EZ
-
= 50 A
0 T T T T 1
(] [ap] A= H [{=}
) ) S S )
(o] [a] (o] (2] N
Year/as

In year 2013, the number of plants grown in nursery B was what percent of the number of plants grown in nursery A?

T 2013 # tig TR B & I T Gied it e qd = A H I T Ui i e o fohae wiasrd or?

Options:
1) 108.33

2) 65
3) 60

4) 200
Correct Answer: 108.33
Candidate Answer: 108.33

e e e . )/



QID : 50 -
The bar chart given below shows the number of new
plants grown in 2 nurseries A and B from year 2012 to
2016.

A T 9T gus B # 9§ 2012 ® 2016 g 2 ©ier
TR A 9T B H 3R T T Oiel & W&aT s g

T
O Nursery A/dieTex A O Nursery B/ dtem=w B
@ 2004 o
: 1 g8
(en] —
E.g 180 4 RQ - © Fd
S (en] - o - -
o o= S | F
2. 100
EZ
-
= 50 A
0 T T T T 1
(] [ap] A= H [{=}
) ) S S )
(o] [a] (o] (2] N
Year/as

What is the percentage change in the number of plants grown in nursery B from year 2012 to year 2015?

f 2012 § 2015 des e TR B § I 714 diel} it Teeam B uiasrd aRkead= o 82

Options:
1) 21.81

2)11.54
3)6

4) 58
Correct Answer: 11.54
Candidate Answer: 21.81

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Parliament backing a (1)/ second reading of legislation to (2)/ severe ties with the Union (3)/ No Error (4)
Options:

171

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 2

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Prime Minister now faces (1)/ demands by lawmakers to concessions (2)/ before he presents the budget. (3)/ No Error (4)
Options:

101

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 3

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

At one time, Mr. Gupta this supermarket.

- — — m—
e e e ey = —
| e A Rt e e o |



Options:
1) owned

2) had owned
3) used to owning

4) was owing
Correct Answer: owned
Candidate Answer: used to owning

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Mandeep
Options:
1) had been living

in Kerala for four years when his parents came to visit.

2) had live
3) has live

4) has living
Correct Answer: had been living
Candidate Answer: has live

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Emphatic
Options:

1) Reserved
2) Firm

3) Indistinct

4) Insignificant
Correct Answer: Firm
Candidate Answer: Insignificant

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Furbish
Options:

1) Damage
2) Shine

3) Hurt

4) Tarnish
Correct Answer: Shine
Candidate Answer: Damage

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Gallantry

Options:

1) Fear

2) Bravery

3) Misbehaviours

4) Disruption

Correct Answer: Bravery
Candidate Answer: Misbehaviours

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Divulge

Options:

1) Admit

2) Betray

3) Declare

4) Hide

Correct Answer: Hide
Candidate Answer: Betray

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Intentional




Options:
1) Designed

2) Accidental
3) Advised

4) Planned
Correct Answer: Accidental
Candidate Answer: Advised

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Heedless
Options:
1) Careless

2) Observant
3) Rash

4) Neglectful
Correct Answer: Observant
Candidate Answer: Rash

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Give a free hand

Options:

1) Without stigma

2) To exercise complete control over something
3) Maintaining composure

4) An unexpected triumph

Correct Answer: To exercise complete control over something
Candidate Answer: Without stigma

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Be as hard as nails
Options:
1) Tough guy

2) To have no feelings
3) Laborious person

4) Physically strong
Correct Answer: To have no feelings
Candidate Answer: Physically strong

QID : 63 - Improve the bracketed part of the sentence.

"This is (deeply disappointing result),’ said an opposition party spokesman.
Options:

1) an deeply disappointing result

2) a deeply disappointing result

3) deeply very disappointing result

4) No improvement

Correct Answer: a deeply disappointing result

Candidate Answer: No improvement

QID : 64 - Improve the bracketed part of the sentence.

Attorneys have announced a settlement in a lawsuit over (whom) owns the copyright.
Options:

1) who

2) which

3) whose

4) No improvement
Correct Answer: who
Candidate Answer: No improvement

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Worshipping of idols




Options:
1) Actuary

2) Advisory
3) Idolatry

4) Ceremony
Correct Answer: Idolatry
Candidate Answer: Advisory

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

That cannot be avoided
Options:
1) Changeable

2) Durable
3) Abolishable

4) Inevitable
Correct Answer: Inevitable
Candidate Answer: Inevitable

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Alergic

2) Alergec
3) Allergic

4) Ellergic
Correct Answer: Allergic
Candidate Answer: Alergic

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Allaince

2) Elliance
3) Allanice

4) Alliance
Correct Answer: Alliance
Candidate Answer: Alliance

QID : 69 - Rearrange the parts of the sentence in correct order.

Rapid improvement

P: stimulated the globalisation process
Q: major factor that has

R: in technology has been one

Options:
1) RQP

2) PRQ
3) QPR

4) QRP
Correct Answer: RQP
Candidate Answer: RQP

QID : 70 - Rearrange the parts of the sentence in correct order.

There are many aspects of

P: unequal situations in a

Q: of rules and regulations

R: market and poor enforcement

Options:
1) PQR

2) QRP
3) PRQ

4) QPR
Correct Answer: PRQ
Candidate Answer: QRP




QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

There are ingredients for achieving success. Of which, self-awareness is one, which is to success. People are more comfortable in knowing about
__than about themselves. A few people have the habit of complaining, condemning and criticizing others’ behavior and nature. They cannot digest when others
think and behave with them as they think that they are better than others. In fact, nobody is perfect in this world. We all have our strengths and weaknesses and being
aware of the same will help us to become a person.

There are
Options:
1) several

2) much
3) most

4) more
Correct Answer: several
Candidate Answer: more

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

There are ingredients for achieving success. Of which, self-awareness is one, which is to success. People are more comfortable in knowing about
______than about themselves. A few people have the habit of complaining, condemning and criticizing others’ behavior and nature. They cannot digest when others
think and behave with them as they think that they are better than others. In fact, nobody is perfect in this world. We all have our strengths and weaknesses and being
aware of the same will help us to become a person.

ingredients
Options:
1) relational

for achieving success.

2) essential
3) unimportant

4) secondary
Correct Answer: essential
Candidate Answer: relational

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

There are ingredients for achieving success. Of which, self-awareness is one, which is to success. People are more comfortable in knowing about
____than about themselves. A few people have the habit of complaining, condemning and criticizing others’ behavior and nature. They cannot digest when others
think and behave with them as they think that they are better than others. In fact, nobody is perfect in this world. We all have our strengths and weaknesses and being
aware of the same will help us to become a person.

which is to success.
Options:

1) notion

2) option

3) key

4) lock

Correct Answer: key

Candidate Answer: option

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

There are ingredients for achieving success. Of which, self-awareness is one, which is to success. People are more comfortable in knowing about
_____than about themselves. A few people have the habit of complaining, condemning and criticizing others’ behavior and nature. They cannot digest when others
think and behave with them as they think that they are better than others. In fact, nobody is perfect in this world. We all have our strengths and weaknesses and being
aware of the same will help us to become a person.

knowing about than about
Options:

1) others

2) bosses
3) people

4) another
Correct Answer: others
Candidate Answer: people

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

There are ingredients for achieving success. Of which, self-awareness is one, which is to success. People are more comfortable in knowing about

than about themselves. A few people have the habit of complaining, condemning and criticizing others’ behavior and nature. They cannot digest when others
think and behave with them as they think that they are better than others. In fact, nobody is perfect in this world. We all have our strengths and weaknesses and being
aware of the same will help us to become a person.

help us to become a person.

—_
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Options:
1) satisfied

2) emotional
3) successful

4) notorious
Correct Answer: successful
Candidate Answer: satisfied

QID : 76 - What is the situation where people are apparently working but all of them are made to work less than their potential is called?

U R STt & e &0 @ ol o @ gl & afth 37 goft it ool et @ o Al et ot f e €, R el 82

Options:
1) Unemployment
ERSUING

2) Over employment
3) Seasonal employment
AR

4) Underemployment
SRR
Correct Answer: Underemployment

Candidate Answer: Underemployment

QID : 77 - Which among the following refers to an agreement in which the lender supplies the borrower with money, goods or services in return for the promise of
future payment?

T | I A1 G GHEA ol GafHfa aear & fored sworardr widsy & oftar & are & aact SURehdl el &I, Ao a7 QaTg Wal el 87
Options:

1) Deposit

ST

2) Saving

EEGH

3) Credit

g

4) Cheque

Jem

Correct Answer: Credit
R3IRE)

Candidate Answer: Saving
EEn)

QID : 78 - Lok-Sabha is presided by whom?

IR [T Sl STEHETAT i1 T 87

Options:
1) Speaker
G

2) President of India
IRa & AFufa

3) Prime Minister of India
R & YT

4) None of these
kil
Correct Answer: Speaker

Candidate Answer: Speaker

QID : 79 - What is the in source of preamble of Indian constitution?

TR T AT I fRAhT o1 S T 82

Options:
1) British constitution

fafeer dfem

ZlAustralian constitution
Tfgem

3) American constitution
qferT
4) Brazilian constitution
ifaem

Correct Answer: American constitution
dfye=

Candidate Answer: Brazilian constitution
Tfgem

QID : 80 - Which was the most important Mahajanpada?
Y AEAYUl AGTSUG i &1 oT?




Options:
1) Avanti
st~

2) Gandhara
MR

3) Magadha
Yy

4) Vajji
afest

Correct Answer: Magadha
Yy

Candidate Answer: Magadha
Yy

QID : 81 - When was Rani Lakshmibai defeated and killed?

T+t AgHIaTS I RIehEd e S auT I8 el ART T
Options:

1) November 1852

TR 1852

2) October 1854

3TeZER 1854

3) June 1858

SIT 1858

4) April 1867

YT 1867

Correct Answer: June 1858

SI7 1858

Candidate Answer: November 1852
qeweR 1852

QID : 82 - The process that divides the day from night on the globe is called the circle of

g ufehar il elte WR 1 3 it Renfora @t 8, sheerdt 51

Options:
1) Revolution
TRERHOT

2) Rotation

3) Translation
3RO

4) lllumination
Correct Answer: lllumination

Candidate Answer: Revolution

QID : 83 - What is the shape of the Atlantic Ocean?

IR TR ST SR T &2

Options:

1) Almost Circular
THIRT JABR

2) S' shaped

S' 3MThR

3) Almost Triangular

SURAERSIEI
4) None of these
&1 9 1S Tl

Correct Answer: S' shaped

S' 3R

Candidate Answer: S' shaped
S' 3MhR

QID : 84 - A balanced diet has .
ThEgRa AR A 8l

Options:
1) Only nutrient
had Ui

2) Only water
haet gt

3) Only roughage
e TR
4) All options are correct

Correct Answer: All options are correct

goft forerea TEt &

Candidate Answer: Only nutrient
dcd




QID : 85 - In which of the following groups of animal the heart pumps only deoxygenated blood?

i SRl & Tvg # & fRrad gea Sad SifeRmds T @l Wifdd ar 82
Options:

1) Fish

ol

2) Mammals
&

3) Reptile
Wy

4) Snake
qig

Correct Answer: Fish

Candidate Answer: Snake
gig

QID : 86 - Vitamin A is responsible for .

fafmy___ & RvfSmer gl

Options:
1) Night blindness
<dieft

2) Scurvy
wha

3) Pellagra
gamn

4) Jaundice
diferr

Correct Answer: Night blindness

Tateft
Candidate Answer: Night blindness

QID : 87 - A rocket works on the .

e ke TR A T gl

Options:
1) Archimedes Principle

2) second law of motion
Y <l GAA SAIET

3) principle of linear momentum

e nfa & Rigia
4) None of these

= 9 g T

Correct Answer: principle of linear momentum

e mifar & Rigia

Candidate Answer: principle of linear momentum

e wifr & Rigia

QID : 88 - Which of the following mirror is used to concentrate light on a given spot?

T d @ o= a1 gt feReht U U WM W Herier &Y Shied @en & forg SuainT fomar siar 82

Options:

1) Concave mirror

S gHor

2) Convex mirror

Il U

3) Plane mirror

grad gyor

4) Biconvex mirror

3

Correct Answer: Concave mirror
Srade gHor

Candidate Answer: Biconvex mirror
3

QID : 89 - What are the errors in a program is called?
e U # Ffeat o wgardt a2
Options:

1) Fault

Gkt

2) Mistake

et

3) Syntax

are-fa=ama

4) Bug

Gl

Correct Answer: Bug
Eul




Candidate Answer: Bug
Gl

QID : 90 - The sharp pain caused by the sting of an ant is due to

TH A FSHEY_____ & HRUTIAS & gt &l
Options:
1) Nitric acid
2) Hydrochloric acid
ST

3) Formic acid

TfHch STt
4) Acetic acid
Tafee s

Cgrrect Answer: Formic acid
ifHeR arT

Candidate Answer: Formic acid
TfHeh St

QID : 91 - The reaction 2Na + Cl, = 2NaCl is an example of _.

2Na + Cly =2NaCl sifafhar ____ 1 ge Sareor &1

Options:
1) Combination reaction
aTer affenar
2) Decomposition reaction
see ufafshar
3) Complex reaction
ufafokar
4) Double decomposition reaction
Salcl e
Correct Answer: Decomposition reaction
uacT
Candidate Answer: Double decomposition reaction
ST AU

QID : 92 - What is symbiosis?

ggsiad w1 8?

Options:

1) association necessary for survival of both partners
T ITERY forg smasae &

2) association in which one species is benefitted and causes harm to another species
el forers Qe ool oAt T QT 91 STt ohl T Ig et &
3) association in which one species is benefitted and another is unaffected
R O e ISAIfeY a1 AT Gl & T GERT ST gl &
4) N%ne of these

Correct Answer: association necessary for survival of both partners
Ut wfa 5 gAY Rt & sifa o g smasaes gt

Candidate Answer: association necessary for survival of both partners
i ey & g sitasas g

QID : 93 - What is the maximum age of joining Atal Pension Yojana?

S1ee UL FierT & Se o g sifdrends oy 82

Options:

1) 18 years
18 ay

2) 21 years
21 T

3) 40 years
40 af

4) 60 years
60 ay

Correct Answer: 40 years
40 T

Candidate Answer: 60 years
60 af

QID : 94 - What was invented by "Charles Goodyear"?

"oy TegaR” A forg T SnifareRR fora am?

Options:
1) Saccharin

2) Rocket
ke

3) Razor
TR

4i Rubber

TAT




Correct Answer: Rubber
IR

Candidate Answer: Saccharin

QID : 95 - Which among the following is NOT included in the Olympic Games?
Frefeiea § 9 & sficifue |« | MmiHe T8t 82

Options:

1) Swimming

GHETS

2) Archery
dRigrst

3) Athletics
TRy
4) Kabaddi
Fergl

Correct Answer: Kabaddi

Candidate Answer: Swimming
GHED]

QID : 96 - The Kailash temple at Ellora is an example of _.

TART B e #RR o7 Uk IR0 81
Options:
1) Free-standing temple
o @3 AR
2) Rock-cut Temple
& e wfeR

3) Shore temple

g q AR

4) None of these
KEIEE

Correct Answer: Rock-cut Temple
T HieR

Candidate Answer: Rock-cut Temple
Fwe AR

QID : 97 - Who has won the prestigious Abel Prize 2017 for his role in the development of mathematical theory of wavelets?

o et o Rigla & faermer & 1ot offiem o g ufafBa gerer qRepr 2017 e Sfar?

Options:
1) Roald Dahl
eSS

2) Danielle Steel
g €

3) Dan Brown
EIcTE

4) Yves Meyer

g 7R

Correct Answer: Yves Meyer
PERK:BH

Candidate Answer: Danielle Steel
Bt

QID : 98 - Who is the author of the book named “Rangbhoomi”?

Options:

1) Prem Chand
LT

2) Kalidas
EIECE

3) Gulzar

NS
4) Tulsidas

Correct Answer: Prem Chand
L

Candidate Answer: Prem Chand
9 dg

Air Force.

QID : 99 - Desert Eagle is the bilateral exercise between Indian Air Force and

I ST ARG ag AW ____ I1g I & < {Fuefiy enar 81




Options:

1) U.S.A.(United States of America)
TYh AT

2) Russia

g

3) U.A.E.(United Arab Emirates)
TY<h SR SHRIET

4) China

I

Correct Answer: U.A.E.(United Arab Emirates)
TY<h SR SHRIT

Candidate Answer: U.S.A.(United States of America)

TY<h e SReT

QID : 100 - When was the Indus Water Treaty between India and Pakistan signed?

R AT UTfeheaT & ot iy oiet Wi UR g&IeR el §g7

Options:
1) 1947

2)1954
3) 1960

4) 1972
Correct Answer: 1960
Candidate Answer: 1972



